R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, FL-15903.17

5008 TAMPA WEST BLvVD.
TAMPA, FLORIDA 33634
PH. (813) 886-0240

UN METALS

SUNDOR 5000

SLIDING GLASS DOOR
"Small MISSILE IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010
Florida Building Code (FBC) structural requirements excluding the "High
Velocity Hurricane Zone".

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing or

stucco.

When installed greater than 30 feet above grade in areas requiring wind

borne debiris protection this product complies with Section 1609.1.2 of
the 2010 FBC and does not require an impact resistant covering. This
product meefs missile level "A" and includes Wind Zone 4 as defined in
ASTM E 1996 and Section 1609.1.2.4 of the FBC.

When installed 30 feet or less above grade in areas requiring wind borne
debiris protection this product must be protected with an impact
resistant covering that complies with section 1609.1.2 of the 2010 FBC.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered

architect.

42.5"
MAX. D.LO.

425"
MAX. D.L.O.

191.25" MAX. O.A. DOOR WIDTH

425"
MAX. D.L.O.

42.5"
MAX. D.L.O.

95.75" MAX. O.A. DOOR HEIGHT

88.63" MAX. D.L.O.

i
/

/
///

TABLE OF CONTENTS

SHEET #

DESCRIPTION

—

TYPICAL ELEVATIONS, DESIGN PRESSURES & GENERAL NOTES

DOOR PANEL SECTIONS

DOOR PANEL SECTIONS

SIDELITE PANEL SECTIONS

CORNER DETAILS

HORIZONTAL CROSS SECTIONS

VERTICAL CROSS SECTIONS

ANCHORING - CONCRETE SUBSTRATE

ANCHORING - STEEL SUBSTRATE

COMPONENTS

— | OV |N|o~| |l N

—_— —

BILL OF MATERIALS & COMPONENTS

191.25" 42.5"

x x G1 115.0 135.0
95.75" 88.63"
191.25" 42.5"

X X G2 115.0 135.0
95.75" 88.63"

N
5 o 2
I I -
03 5"‘\'3
Zz 4
£ . n 2o N
FE2 Y g S
TEE
“ [11]
H56 2% \ o
2>" 3 o
Zowm 5 E(Y 2
- OmM L0 E
S 0N ;0 ¢ £
235204 (7]
§§3%¢2esNou
n—oou c
P 2 =L 09 5
£ 00T 0P s
o U <3
B | g'ﬂh Ry
c TY
© 9 g
L ¢
3
o
[*]
o
(7]
0 L
Z =
S S}
> | &
%} &
3 | gB
© . BG
o H <©
< ma.,a
o =
p— w|
3 |7 g
0
< &
SRCE:
= S| &4
2 g o
o o
>
2]
%]
=z
o
n
o
o
=,
<
(]
o
b
DATE: 8/24/12
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15903.17

sHEeT _1 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, 2.17

-

49.08"
MAX. PANEL WIDTH

42.50"

T MAX.D.LO. T

&%

93.88" MAX. HEIGHT

88.63" MAX, D.L.C,

/
i

&

/
4

4
OPERABLE PANEL

49.08"
MAX. PANEL WIDTH

42.50"

MAX.D.LO. |

&>

93.88" MAX. PANEL HEIGHT

88.63" MAX, D.L.O.

///

&b

/
Va

INTERIOR

1L1] SEE GLAZING DETALL C_—i—rﬁ
| \
L E

EXTERICR

@ HORIZONTAL CROSS SECTION
2

13/16" GLASS BITE

9/16" THK. GLASS
/ 1/4" HEAT STRENGTHENED

~a— (060" DUPONT SGP

% : \ 1/4" HEAT STRENGTHENED
G2 ) GLAZING DETAIL {DRY GLAZED)

MONOLITHIC
9/16" LAMINATED GLASS

INTERIOR

SEE
GLAZING DETAIL

<
FIXED PANEL

EXTERIOR

@ HORIZONTAL CROSS SECTION \G>
2

BT

EXTERIOR

/—\ VERTICAL CROSS

- ®

GLAZING DETAIL

INTERIOR

s \@%

SECTION

EXTERIOR

SEE
GLAZING DETALL —____ |
— ! . INTERIOR

&

4 \ VERTICAL CROSS SECTION

S

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico Fl. 33595
813.659.9197

Phone No.:
Certificate Of Authérization . 9813
/ Ferre

Florida Board of Professional Engineers

Ry

Documsants Prepcred By:

Lyndon F. Schmidt, P.E. No. 43409

SLIDING GLASS DOOR

DOOR PANEL SECTIONS

FART OR ASSEMBLY:

PRODUCT:

BY

NOI DATE

REVISIONS

DATE: 8/24/12

scal: NLT.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15803.17

SHEET _2 ofF 11

© 2012 R.W., BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, 3.17

—— -

49.08"
MAX. PANEL WIDTH

42,50

MAX.D.LO. |

D

e e

/
b ,///
Q
* 9
% o
2% (1) X
23
=g
3 3 /
o Ve
o 7
4
OPERABLE PANEL
L 49.08"
MAX. PANEL WIDTH
4250
MAX. D.LO.

D

INTERIOR
SEE GLAZING DETAIL

—T]

= @
EXTERIOR

@ HORIZONTAL CROSS SECTION
3

13/16" GLASS BITE

29
1-5/16" THK. GLASS
/ 1/4" HEAT STRENGTHENED

[~—— — 0.060" DUPONT SGP
AN \ 1/4" HEAT STRENGTHENED

\% 1/2" AR SPACE
1/4" TEMPERED
30

GLAZING DETAIL (DRY GLAIED,
1-5/16" LAMINATED 1.G. GLASS

INTERIOR
SEE GLAZING DETAIL

W EXTERIOR

= a
Q.
T 9
o &
Z%/3) )
[aTH
< = w
23
2 8 ,
S i
8 /
q
FIXED PANEIL

=

7”3\ HORIZONTAL CROSS SECTION

\3/

51

EXTERIOR

SEE
GLAZING DETAIL

INTERIOR

o b

/ 2"\ VERTICAL CROSS SECTION

NE

51

SEE —

GLAZING DETAIL

EXTERIOR

1

INTERIOR

A

/ &\ VERTICAL CROSS SECTION

NED

Farra

No. 9813

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Phone No.:
Florida Board of Professional Engineers

Certificate Oiﬁﬂzatioz

Ry

Documents Prepcored By:

Lyndon F. Schmidt, P.E. No. 43409

SLIDING GLASS DOOR
PART OR ASSEMBLY:
DOOR PANEL. SECTIONS

PRODUCT:

BY

REVISIONS

NO] DATE

owre: 8/24/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-15803.17

SHEET _3 oF 11

© 2012 R.W. BUILDING CONSULTANTS NG,



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, 4.17

4486 o
MAX, PANEL WIDTH
45
MAX.D.LO.
NV
!
I /
Q
£ 9
% o
% 10 O
x =\ 4 e
2 &
220N
CRANC |
S /
4
SIDELITE PANEL

13/16" GLASS BITE

1-5/16" THK. GLASS
1/4" HEAT STRENGTHENED

0.060" DUPONT SGP

1/4" HEAT STRENGTHENED
1/2" AIR SPACE

S 30 1/4" TEMPERED

GLAZING DETAIL
1-5/16" LAMINATED L.G. GLASS

77

52 59

51

7“3\ HORIZONTAL CROSS SECTION

N

9/16" THK. GLASS
174" HEAT STRENGTHENED

W 13/16" GLASS BITE

0.060" DUPONT SGP

1/4" HEAT STRENGTHENED

G2 GLALING DETAIL

MONOUTHIC
9/16" LAMINATED GLASS

30

29

-

5

/"2 \ VERTICAL CROSS SECTION

\4/

A

/ 4\ VERTICAL CROSS SECTION

&/

F2pre.

o. 9813

813.659.9197

Zéotion ?I

P.O. Box 230 Valrico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
Phone No.:

Florida Beard of Professional Engineers

Certificate Of Aut

Ry

Documents Prepared By:

SLIDING GLASS DOOR

SIDELITE PANEL SECTIONS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 8/24/12

SCALE: N.T.S.

DwG. aY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15803.17

SHEET _4 oF 11

© 2012 R.W. BUILDING CONSULTANTS [NC.



TON| SANVLIASNDOD SNIgNMB M'NH Z1LOZ @

60FSH "ON "I'd "IPIUYDS 4 uopuky SNOISIATY ~
~2s-0 8K i -
¢ AT MLIQ HINHOD A8 3v0 ONJ o) I |Z =4

c186 ‘oN’ uoRoZUOYING O eIDoNeD =3

sieeubuy |puoisselOlL O pJDOg DPLIOLY ATBNISSY HO Lvd W M = . QOJ &
£BLE'6G9'ELE TON Suoud W . 2w 5_

SESCC "4 OSHIDA 0CZ X0 "O'd \;@. hidilg |
*ONb SINVIINSNOD ONIGHNE 4004 SSV1 ONIONS i m 6y S o | B
g pelddeiy sjuewnoog -1oNAoHd SIRE1S m %

L1°S "BMP TZ-£1°£065T-14\sDuImeIa Damy "a\Z691 4d\00LT - 1091 {oid\siapiod pa{osd\sioalold - v\:d



TON| SLNTLINSENDOT SNIGTUNE MY Z L0OE 5

BOPSY ON "I'd IPIUYDS '3 UOPUAT SNOISIAIY
N VNN.\- TVINOZIMOH
£186 ‘ON"USROZLOIMG 4O SI00MeD . -
steeuibul |DUCISESOId JO PJDOE DPLIO|Y SATENESSY HO l¥vd
LBLEB'EGO'C LR "ON 8Uoyqd

G65CE 14 ODUIDA Q£Z X089 ‘O'd
‘ONI "SINVAINSNOD Uz_aubm\sv@ 4000 SSY19 ONIANS

£ pespdesd suswnoog LoNa0dd

~—
-
L

JK
LFS

=]

N.T.S.

N

FL—-15903.17

DATE: 8/24/12
SHEET

CHK. BY:
DRAWING NO.:

SCALE:
DwG, BY:

GLAZING DETAIL

(]

]
+
/
(RO
®

_ 2 - gﬂ

Jmmmﬁ

/ 4"\ HORIZONTAL CROSS SECTION

/" 2"\ HORIZONTAL CROSS SECTION

po- &

GLAZING DETAIL

SEE

INTERIOR
EXTERIOR

INTERIOR
EXTERIOR

GLAZING DETAIL

SEE

=
Q
3]
@ 3 :
5 a
hred o}
y [
m ]
£ £
— E LY v E m
= [ =
W o}
= - i
Iih R
v N e v Ty : o] ™ |0
: 5 . ‘4‘ .e - v 7 L M - - - x AU

= —F

GLAZING DETAIL

SEE

L1'9 'BMP TZ-E1° €065 T-T\SBUIMEIT DEMY "A\ZE9T Jd\0OLT - T09T [oid\siapiod alord\spalold - vy



SELECT ANCHOR TYPE
& ANCHOR SPACING
FROM ANCHOR
SCHEDULE

-

SEE ANCHOR ELEV,
SHEETS FOR LIMITATIONS
ON MAX. SHIM SPACE

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\0D. RWBC Drawings\FL-15903.13-21.dwg, 7.17

]
2 q
O
x |
;; o h [ 1 oPmoNaL
Z {__  SCREEN
¢ (O] |
SEE
GLAZING DETAIL II
EXTERIOR 77 | INTERIOR
@vsnncm CROSS SECTION |
7
EXTERIOR INTERIOR
SEE
GLAZING DETAIL

~ SELECT ANCHOR TYPE
& ANCHOR SPACING
FROM ANCHOR
SCHEDULE

EDGE
DIST.

EDGE
DIST.

@ VERTICAL CROSS SECTION
7

SELECT ANCHOR TYPE
& ANCHOR SPACING

FROM ANCHOR
SCHEDULE

SEE ANCHOR ELEV.
SHEETS FOR LIMITATIONS
ON MAX. SHIM SPACE

V5. ANCHOR TYPE & DP

OPTIONAL
SCREEN

EXTERIOR SEE
T GLAIING DETAIL

@ VERTICAL CROSS SECTION :
7

| INTERIOR

EXTERIOR INTERIOR

SEE
GLAZING DETAIL

//
/)

SELECT ANCHOR TYFE
& ANCHOR SPACING
FROM ANCHOR
SCHEDULE

EDGE
DIST.

EDGE
DIST,

@ VERTICAL CROSS SECTION
7

No. 9813
J £ ?o-(?_

B13.659.9187
Lynden F. Schmidt, P.E. No. 43409

f Professional Engineers

CertificatZ’Xuthorizat?T

P.0O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Florida Board

Ry

Documents Prapared By:

SLIDING GLASS DOOR

PART OR ASSEMBLY:
VERTICAL CROSS SECTION

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 8/24/12

scAlE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15903.17

SHEer _7 oF 17

© 2012 R.W. BUILDING CONSLILTANTS ING.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, 8.17

¢ . | 375"
. i 1" T 3-75u T e 3-75“
3-75" Wl 3.75" il - I N
_— 3 75;1 - 3.75 3 75" 3.75
—— — | 3:75" 3.75" S S 3_7.5" __.....l 375
R e | <4 F — g i) 4 —= | | g
SR I Frerr bbbt rreny T rerir rnitd AT 11 P P rre RN N
/\/ /\/ /\J MEETING STILES /\ /\/ /\J
FRAME ANCHORING @ HEAD SHOWN FOR FRAME ANCHORING @ HEAD
DP <= 80 PSF LOCATION DP <= 135 P§F
Max. shim space <= .625" REFERENCE ONLY Max. shim space <= .25"
¢
A T - 3_75"
. —— 3.75" u
—ef f=d—375 . ¥
B O — | 378 ﬁ-—ng 3
Rt A | g ' f— 4 —— e 3
T R4 - 4"
IR I I | LI 0 O I I I O I O 1111 o s—
s l'.;-._:ill (AENEN Pt (EENEEN 1t
o
’\’ l\' l\' MEETING STILES /\/ /\j /\/
FRAME ANCHORING @ HEAD SHOWN FOR FRAME ANCE‘ORING @ HEAD
Max. shim space <= 41" REFERENCE ONLY Max. shim space <= .625
SUBSTRATE ANCHOR SCHEDULE
5/16" x 2-3/4" ITW {XL) HWH concrete screw with 1.75" Min. embedment, 4" minimum edge /\’ /\ /\/
@ distonce and 3.75" minimum clearance to adjacent concrete anchors. Concrete is 2,899
PSI minimum conforming to AC! 301.
CONCRETE =
3/8" diameter x 2-1/4" ITW Dyna-Bolt sleeve anchor with 1.5" minimum embedment, 2.5 e
@ minimum edge distance and 3.0" minimum clearance to adjacent concrete screws. ';f-' / ol LA 1 FLl FEEER bt
Concrete is 2,000 PS! minimum conforming to ACH 301, e
R DR et 5" - Siminet
MEETING STILES 5 N ™
SHOWN FOR
LOCATION
REFERENCE ONLY FRAME ANCHORING @ SILL
DP <= 135 PSF

Max. shim space <= 0.17"

0 \
o p 2
B §n DY
gm L£p NY
‘g’c‘»ﬁ"’&;\a
NN $
£823% \,
FEd 28\«
D>, kY -
2 - 2Ry g
c an® 2% Uf
ON 0 ¢
& i v & £
3 232 353(Ma
E"‘mﬂ'uq- ™
6 9 ctB&
&~000
PRaLBE §
o u.m«s o
o® =)
o g o E X
c T
o ]
PR
=
o
[
[}
S
S =
5 <
» =
(&)
2 | 28
L BE
] 530:&0
W s S
Zz |3 25
= v}
S |33
n |2 Z
k [1'd
O
§ o
2 =
o o
&
1]
z
)
v
o
e
<
I
O
4
DATE: 8/24/12
SCALE:  N.T.S.
DWG. BY: JK
CHK, BY: LFS
DRAWING NO.:
FL—15803,17

SHEET _8 oF 11

T 2012 A.W. Bunomwe DONSULTANTS ING.

]



RiVA - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, 9.17

SUBSTRATE ANCHOR SCHEDULE
5/16" x 2-3/4" TW (XL] HWH concrete screw with 1.75" Min. embedment, 4" minimum edge
CONCRETE distance and 3.75" minimum clearance to adjacent concrete anchors. Concrete is 2,899
P51 minimum conforming to ACI 301,
1/4"-20 HWH Hilti KWIK PRO self-drilling screws. Steel with 0.125" minimum wall thickness
STEEL conforming o ASTM AS500 Grade B. Fy = 44,000 PS! & Fu = 58,000 PS| or ASTM A653,

Fy = 33,000 PSI, Fu = 45,000 PS1. Minimum embedment of 3 threads through steel subsirate.

2'MAX. O.C.
(TYPICAL)
2MAX.OC.
(TYPICAL) :
A 2 o 4"
".;:. Hiy TELIEE 1A TIATEY HLERTS B wn REERE]
FRAME ANCHORING @ HEAD
MEETING STILES Steel subsirate
SHOWN FOR DP <= 135 PSF
LOCATION Max. shim space <= 425"
REFERENCE ONLY 2'MAX. O.C.

(TYPICAL)
2' MAX. O.C. ]
(TYPICAL) —~—4
>

it TEITEN 1 int
v " 1
MEETING STILES FRAME ANCHORING @ HEAD
SHOWN FOR Sge;l Sugg’mfe
ATl P <= 80 PSF
ili(E)F(éREh?éqE ONLY Max, shim space <= .425"
_
ey I N P A1 11 (|
L TN 5] e
MEETING STILES 5 O
SHOWN FOR A
LOCATION t
REFERENCE ONLY FRAME ANCHORING @ SiLL
Concrete substrate
DP <= 135 PSF

Max. shim space <=0.17"

J?: &7

No. 8813
Lyndon F. Schmidt, P.E. No. 43409

rofessional Engineers

orizati

P.O. Box 230 Vairico FL. 33595
of
h

% BUILDING CONSULTANTS, INC.
cWPhone No.: 813.659.9197

Certificote Of

Documents Prepared By:
Florida Bogrd

SLIDING GLASS DOOR
ANCHORING
STEEL SUBSTRATE

PART CR_ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 8/24/12

SCALE:  N.T.S.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15903.17

SHEET _9 oF 17

2012 R.W. BUILDING CONSULTANTS ING.




3“ .

F=—0.51"

—— 0.49"
4

P erre

2813

A
.
5

LI—-‘——IPI"—-j

0.125"

0.08" —w{|--—

0.125" — ot f==—

= 0.4%"

813.659.9197

— 131" [
]

e 259" — =

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, 10.17

8 £ w3
sB 2 3
—— =z L] & <+
= —'_ J LI‘:J Y
[~ 2 g l:'o 52 2
S = . S SE@ sely Y
| AT i : 5 | 355851 5
sy 5 oo | o 5 3  Sgatifhg
o «~ G:Q gonga N |3
. o ‘ ? 1 - i J v 25252 N3
i = o " 2 T m .
0 o %L S =— 0.321 59 .28 u
S N N 3 13 826587 ¢
_ . ] 051" . g Boxaof §
& S 3 GLAZING BEAD : 8 S
S o TOP RAIL O ! : £ 5T
| LG. TOP RAIL /16" Gloss R =9
o | INTERLOCK STILE - FIXED PANEL . ?/18" Glass 1-5/16" Glass g
9/16" Glass 1.91 - 8
5 }BOTTOM RAIL - MOVING PANEL
916" Glass " %
0.22" , 2
022" —= ﬂ 1.32 o
2 5 — 2 2
: S 2.92" - i o 9
— = . >".
2l]81|_____-_ g 2.]8|l E 1 4 ﬂm}f g g §
L— d 9 i)
| =143 ! =144 | | T T Y i 3 |3 8
T L 5 o < b '3
. T - T [ o N 51 ).LG. GLAZING BEAD 2 o
I o s : i 1-5/16" Glass o) E
- 025" 7 = o 5 l & &
T 1 0.125" | ’ s
Iwre [N -——{ i -
g
49 1.G. BOTTOM RAIL - FIXED PANEL S { —= 0.76" }=—
FIXED PANEL STILE 52 }LG: FIXED PANEL STILE 1-5/16" GLASS ==
2/16" Glass 1-5/16" Glass L.G. LEAD STILE i # e 0.125
1-5/16" Glass 8
f Q
-—1.89" = " %
. =191 FIXED PANEL RETAINING CLIP o
5 ,.‘ e (3.22" o
(=]
5 - 1,89" —= t T
&
o
| c;rﬁ seg t S ] . 300
G - . z 5
. 2 A — | 0125 —= T T °
& S T . ‘ o —= X 0.125" =
— = fe) "z
0.125" —={ ks 4 S o e
‘ = l =l J l o baTE: 02/26/08
1 % o ‘ " ‘ SCALE: N.T.S.
> 1.G. BOTIOM RAIL - MOVING PANEL Jl[ pWe. BY: UK
() INTERLOCK STILE - MOVING PANEL 1-5/16" Glass oK B LFS
9/16" Glass .

L.G. INTERLOCK STILE - MOVING PANEL LEAD STILE ( : \HNTERLOCK STILE - FIXED PANEL  IorayinG o
1-5” 6" Glass 9“ & Glass ]—5”6 Glass

FL—-15903.17

sHEET_10 oF 11

© 2012 R.W. BUILDING DONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1692\D. RWBC Drawings\FL-15903.13-21.dwg, 11.17

2 g
D €4 9
: M g'_ .2
g
z"” o N
=35 e®
2wy 08
TN
= LW o o
J5C B o
2 30 8% N
h" 2 e o
ZompL g
w QM L 5 E
N 3N O£
@ S . 5y 8
o §8Z5¢g ©
E_mnv ™
8 9 .cPh
& 25060
g 2L 0g 5
T E: 2
o9 <
2 s 3
o o6
3
o
o
o

BILL OF MATERIALS 5" -
TTEM] DESCRIPTION MATERIAL 086" "‘“‘1*’ OZB.T“ 0.55" :
D |'5/16" X 2-3/4"ITW HWH CONCRETE SCREW STEEL T i T
£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE ? 12 = o
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 _ } 9 | i

F_|3/8"X2-1/2" DYNA BOLT SLEEVE ANCHOR (ZINC PLATED) STEEL N to Lit ] _J]

G _| #10 X 1-1/2" SQ-PH ASSEMBLY SCREW STL. STEEL n = ) L

H | 1/4-20 HWH HILTI KWIK PRO SELF-DRILLING SCREW {WITH KWIK-COTE COATING]) STEEL L - 597"

K | #10 X 3/4" HH-SELF TAP ASSEMBLY SCREW STL. STEEL e 905 ]

1 | GLAZING BEAD 6063-T6 (9/14") ALUM FRAME HEAD FRAME SiLL

2 | LEAD STYLE 6063-T6 (9/16') ALUM 0 @

3| INTERLOCK STILE - MOVING PANEL 4005-T5 {9/16') ALUM 25

4 | TOP RAIL 606316 (9/16") ALUM T ° _
5 | BOTTOM RAIL - MOVING PANEL 6063-T6 (9/16") ALUM . T
6 | INTERLOCK STILE - FIXED PANEL 6005-T6 {9/14") ALUM ki -
7 _| FIXED PANEL RETAINING CLIP 6063-T6 ALUM U —— ) \ 2
8 | FRAME HEAD 6063-16 ALUM ] ) i 0-94::_J Lt
9 | FRAME SILL 4063-T6 ALUM § S £ i
10_| FRAME JAMB 4063-T6 ALUM 3 N ' | &
14 | FIXED PANEL STILE 6063-T6 (9/16) ALUM 3 | ) M
15 | XX ADAPTOR 4005-T5 ALUM ~ B

17 | FRAME HEAD POCKET COVER 6063-T6 ALUM f o 0.125" —=|=—
18_| FRAME SILL POCKET COVER 60636 ALUM @W L
25 | WEATHERSEAL SEALANT [WS001) DOW 795 SILICONE

27 | GLAZING SPACER _ S

28_| GASKET, EPDM CLOSED CELL FOAM (9/16" STRUCTURAL GLAZING] EPDM . FRAME JAMB @M

29 | GASKET, EPDM CLOSED CELL FOAM (1-5/16" GLAZING) EPDM

30 | WEDGE 7045 EPDM {1-5/16" GLAZING) EPDM %

31 | BACKER ROD - CLOSED CELL EXTRUDED FOAM POLYETHYLENE < ‘

34 [ SHIM ] } = 087 T

35 | SETIING/EDGE BLOCK PLASTIC A . 0.078"

41 | ROLLER ASSM. STL. STEEL H | 3

42 | REACTION CLIP 4005-T5 ALUM ' . 2

43 | TOE ANCHOR 6005-T5 STEEL —~ L

49 | BOTTOM RAIL - FIXED PANEL 6063-T6 [ 1-5/16") ALUM —Th o t f , 250"

51 |1.G. GLAZING BEAD 6063-T6 { 1-5/16") ALUM ‘ ) = 0.187" ' ‘
52 | 1.G. FIXED PANEL STILE 606316 { 1-5/16') ALUM S | @ FRAME SiLL POCKET COVER
53 |1.G INTERLOCK STILE - MOVING PANEL 6063-T6 {1-5/14") ALUM ! ' H.J 1«

54 |1.G. TOP RAIL 6063-T6 {1-5/16") ALUM 1.303" ~— 19

55 | I.G. LEAD STILE 6063-T6 {1-5/16') " ALUM REACTION CLip 8 |]L_’f_ !

56 {1.G. BOTIOM RAIL - MOVING PANEL 6063-T4 [1-5/14") ALUM S

57 | INTERLOCK STILE - FIXED PANEL (1-5/18") ALUM il

58 | BOTTOM RAIL - FIXED PANEL 6063-T6 { 9/16"] ALUM

. PRE-SET GASKET

=

. WEDGE GASKET

weld

. PRE-SET GASKET

3.50"

—
3

BOTTOM RAIL - FIXED PANEL

®)

9/16" GLASS

SLIDING GLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NOJ] DATE

REVISIONS

oare: 02/26/08

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL—15803.17

sHEer 171 of 11

© 2012 R.W. BUILDING CONSULTANTS INC.



